
Parts & Materials

Drawings & impressions

XSLinked system on steel roof

* Parts also available in Stainless Steel AISI 316

1/3

FOR INFORMATION ONLY

XTSImpact+XTSIntermediate on steel deck

1:4

JMichalska 27102011
TOLERANCING PRINCIPE ISO 8015

0 kg

NONINDICATED TOLERANCES ISO 2768 mK

1/1

FPD110210001ENAPPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110210001EN  XTSImpact+XTSIntermediate.dft

A1 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

FALL PROTECTION

FP
D1

1
02

1
00

01
E

N 
 

XT
S

Im
pa

ct
+X

TS
I

nt
er

me
di

at
e.a

sm
   

 R
ev

. 

WELD QUALITY EN ISO 3834

WELDER QUALIFICATION EN 2871

INITIALS DATE

THIS DRAWING AND/OR ITS CONTENTS ARE THE EXCLUSIVE PROPERTY OF THE DESIGNER,
AND ITS REPRODUCTION OR THE USE OF DISCLOSUR OF ITS CONTENTS WITHOUT WRITTEN
PERMISSION BY DESIGNER OR HIS AUTHORISED REPRESENTATIVE IS STRICTLY PROHIBITED

WWW.XSPLATFORMS.COM

REVISION HISTORY
REV DESCRIPTION DATE INITIALS

A A

SECTION A-A

B

DETAIL B

Cable

XTS-Impact

XTS-Intermediate

Capping sheet

Waterproofing membrane

Insulation

Steel deck

Cap nut M12

Washer

Rubber ring O25

Rubber ring O60

XTS-Toggle Anchor 
(with threaded rod M12)

26
8

50O

22
0

330

FOR INFORMATION ONLY

XTSImpact+XTSIntermediate on steel deck

1:4

JMichalska 27102011
TOLERANCING PRINCIPE ISO 8015

0 kg

NONINDICATED TOLERANCES ISO 2768 mK

1/1

FPD110210001ENAPPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110210001EN  XTSImpact+XTSIntermediate.dft

A1 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

FALL PROTECTION

FP
D1

1
02

1
00

01
E

N 
 

XT
S

Im
pa

ct
+X

TS
I

nt
er

me
di

at
e.a

sm
   

 R
ev

. 

WELD QUALITY EN ISO 3834

WELDER QUALIFICATION EN 2871

INITIALS DATE

THIS DRAWING AND/OR ITS CONTENTS ARE THE EXCLUSIVE PROPERTY OF THE DESIGNER,
AND ITS REPRODUCTION OR THE USE OF DISCLOSUR OF ITS CONTENTS WITHOUT WRITTEN
PERMISSION BY DESIGNER OR HIS AUTHORISED REPRESENTATIVE IS STRICTLY PROHIBITED

WWW.XSPLATFORMS.COM

REVISION HISTORY
REV DESCRIPTION DATE INITIALS

A A

SECTION A-A

B

DETAIL B

Cable

XTS-Impact

XTS-Intermediate

Capping sheet

Waterproofing membrane

Insulation

Steel deck

Cap nut M12

Washer

Rubber ring O25

Rubber ring O60

XTS-Toggle Anchor 
(with threaded rod M12)

26
8

50O

22
0

330

FOR INFORMATION ONLY

XTSImpact+XTSIntermediate on steel deck

1:4

JMichalska 27102011
TOLERANCING PRINCIPE ISO 8015

0 kg

NONINDICATED TOLERANCES ISO 2768 mK

1/1

FPD110210001ENAPPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110210001EN  XTSImpact+XTSIntermediate.dft

A1 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

FALL PROTECTION

FP
D1

1
02

1
00

01
E

N 
 

XT
S

Im
pa

ct
+X

TS
I

nt
er

me
di

at
e.a

sm
   

 R
ev

. 

WELD QUALITY EN ISO 3834

WELDER QUALIFICATION EN 2871

INITIALS DATE

THIS DRAWING AND/OR ITS CONTENTS ARE THE EXCLUSIVE PROPERTY OF THE DESIGNER,
AND ITS REPRODUCTION OR THE USE OF DISCLOSUR OF ITS CONTENTS WITHOUT WRITTEN
PERMISSION BY DESIGNER OR HIS AUTHORISED REPRESENTATIVE IS STRICTLY PROHIBITED

WWW.XSPLATFORMS.COM

REVISION HISTORY
REV DESCRIPTION DATE INITIALS

A A

SECTION A-A

B

DETAIL B

Cable

XTS-Impact

XTS-Intermediate

Capping sheet

Waterproofing membrane

Insulation

Steel deck

Cap nut M12

Washer

Rubber ring O25

Rubber ring O60

XTS-Toggle Anchor 
(with threaded rod M12)

26
8

50O

22
0

330

FOR INFORMATION ONLY

XTSImpact+XTSIntermediate on steel deck

1:4

JMichalska 27102011
TOLERANCING PRINCIPE ISO 8015

0 kg

NONINDICATED TOLERANCES ISO 2768 mK

1/1

FPD110210001ENAPPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110210001EN  XTSImpact+XTSIntermediate.dft

A1 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

FALL PROTECTION

FP
D1

1
02

1
00

01
E

N 
 

XT
S

Im
pa

ct
+X

TS
I

nt
er

me
di

at
e.a

sm
   

 R
ev

. 

WELD QUALITY EN ISO 3834

WELDER QUALIFICATION EN 2871

INITIALS DATE

THIS DRAWING AND/OR ITS CONTENTS ARE THE EXCLUSIVE PROPERTY OF THE DESIGNER,
AND ITS REPRODUCTION OR THE USE OF DISCLOSUR OF ITS CONTENTS WITHOUT WRITTEN
PERMISSION BY DESIGNER OR HIS AUTHORISED REPRESENTATIVE IS STRICTLY PROHIBITED

WWW.XSPLATFORMS.COM

REVISION HISTORY
REV DESCRIPTION DATE INITIALS

A A

SECTION A-A

B

DETAIL B

Cable

XTS-Impact

XTS-Intermediate

Capping sheet

Waterproofing membrane

Insulation

Steel deck

Cap nut M12

Washer

Rubber ring O25

Rubber ring O60

XTS-Toggle Anchor 
(with threaded rod M12)

26
8

50O

22
0

330

•	 Suitable for: all types of steel roofs  

(min. 0,75mm thick)

•	 By mounting on top of the isolation and roofing, 

you minimize the damage to the roof

•	 All XSPlatforms’ anchorage points are tested  

according EN795 class A1 and C

11100		  XSBending kit			   Stainless Steel AISI 304 *	 Aluminum
11110		  XSBase plate			   Stainless Steel AISI 304 *	 Aluminum
11300		  XSToggle anchor			  Stainless Steel AISI 304 *
13100		  XSCable				    Stainless Steel AISI 316



2/3

XSLinked system on wooden roof

Drawings & impressions

Parts & Materials * Parts also available in Stainless Steel AISI 316

FOR INFORMATION ONLY

XTSImpact+XTSIntermediate on wooden deck

1:4

JMichalska 06012012
TOLERANCING PRINCIPE ISO 8015

0 kg

NONINDICATED TOLERANCES ISO 2768 mK

1/1

FPD110212002APPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110212002EN  XTSImpact+XTSIntermediate on woo

A1 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

FALL PROTECTION

FP
D1

1
02

1
20

02
E

N 
 

XT
S

Im
pa

ct
+X

TS
I

nt
er

me
di

at
e 

on
 w

oo
de

n 
de

ck
.as

m 
   

Re
v. 

WELD QUALITY EN ISO 3834

WELDER QUALIFICATION EN 2871

INITIALS DATE

THIS DRAWING AND/OR ITS CONTENTS ARE THE EXCLUSIVE PROPERTY OF THE DESIGNER,
AND ITS REPRODUCTION OR THE USE OF DISCLOSUR OF ITS CONTENTS WITHOUT WRITTEN
PERMISSION BY DESIGNER OR HIS AUTHORISED REPRESENTATIVE IS STRICTLY PROHIBITED

WWW.XSPLATFORMS.COM

REVISION HISTORY
REV DESCRIPTION DATE INITIALS

A A

SECTION A-A

B

DETAIL B

XTS-Impact

Capping sheet

Waterproofing membrane

Insulation

Wooden deck

Cap nut M12

Washer

Rubber ring O25

Rubber ring O60

XTS-Toggle Anchor 
(with threaded rod M12)

22
3

330

50O

XTS-Base Plate Extra

Screws (extremity and corner fixation)

27
1

XTS-Intermediate

Cable

FOR INFORMATION ONLY

XTSImpact+XTSIntermediate on wooden deck

1:4

JMichalska 06012012
TOLERANCING PRINCIPE ISO 8015

0 kg

NONINDICATED TOLERANCES ISO 2768 mK

1/1

FPD110212002APPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110212002EN  XTSImpact+XTSIntermediate on woo

A1 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

FALL PROTECTION

FP
D1

1
02

1
20

02
E

N 
 

XT
S

Im
pa

ct
+X

TS
I

nt
er

me
di

at
e 

on
 w

oo
de

n 
de

ck
.as

m 
   

Re
v. 

WELD QUALITY EN ISO 3834

WELDER QUALIFICATION EN 2871

INITIALS DATE

THIS DRAWING AND/OR ITS CONTENTS ARE THE EXCLUSIVE PROPERTY OF THE DESIGNER,
AND ITS REPRODUCTION OR THE USE OF DISCLOSUR OF ITS CONTENTS WITHOUT WRITTEN
PERMISSION BY DESIGNER OR HIS AUTHORISED REPRESENTATIVE IS STRICTLY PROHIBITED

WWW.XSPLATFORMS.COM

REVISION HISTORY
REV DESCRIPTION DATE INITIALS

A A

SECTION A-A

B

DETAIL B

XTS-Impact

Capping sheet

Waterproofing membrane

Insulation

Wooden deck

Cap nut M12

Washer

Rubber ring O25

Rubber ring O60

XTS-Toggle Anchor 
(with threaded rod M12)

22
3

330

50O

XTS-Base Plate Extra

Screws (extremity and corner fixation)

27
1

XTS-Intermediate

Cable

FOR INFORMATION ONLY

XTSImpact+XTSIntermediate on wooden deck

1:4

JMichalska 06012012
TOLERANCING PRINCIPE ISO 8015

0 kg

NONINDICATED TOLERANCES ISO 2768 mK

1/1

FPD110212002APPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110212002EN  XTSImpact+XTSIntermediate on woo

A1 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

FALL PROTECTION

FP
D1

1
02

1
20

02
E

N 
 

XT
S

Im
pa

ct
+X

TS
I

nt
er

me
di

at
e 

on
 w

oo
de

n 
de

ck
.as

m 
   

Re
v. 

WELD QUALITY EN ISO 3834

WELDER QUALIFICATION EN 2871

INITIALS DATE

THIS DRAWING AND/OR ITS CONTENTS ARE THE EXCLUSIVE PROPERTY OF THE DESIGNER,
AND ITS REPRODUCTION OR THE USE OF DISCLOSUR OF ITS CONTENTS WITHOUT WRITTEN
PERMISSION BY DESIGNER OR HIS AUTHORISED REPRESENTATIVE IS STRICTLY PROHIBITED

WWW.XSPLATFORMS.COM

REVISION HISTORY
REV DESCRIPTION DATE INITIALS

A A

SECTION A-A

B

DETAIL B

XTS-Impact

Capping sheet

Waterproofing membrane

Insulation

Wooden deck

Cap nut M12

Washer

Rubber ring O25

Rubber ring O60

XTS-Toggle Anchor 
(with threaded rod M12)

22
3

330

50O

XTS-Base Plate Extra

Screws (extremity and corner fixation)

27
1

XTS-Intermediate

Cable

FOR INFORMATION ONLY

XTSImpact+XTSIntermediate on wooden deck

1:4

JMichalska 06012012
TOLERANCING PRINCIPE ISO 8015

0 kg

NONINDICATED TOLERANCES ISO 2768 mK

1/1

FPD110212002APPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110212002EN  XTSImpact+XTSIntermediate on woo

A1 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

FALL PROTECTION

FP
D1

1
02

1
20

02
E

N 
 

XT
S

Im
pa

ct
+X

TS
I

nt
er

me
di

at
e 

on
 w

oo
de

n 
de

ck
.as

m 
   

Re
v. 

WELD QUALITY EN ISO 3834

WELDER QUALIFICATION EN 2871

INITIALS DATE

THIS DRAWING AND/OR ITS CONTENTS ARE THE EXCLUSIVE PROPERTY OF THE DESIGNER,
AND ITS REPRODUCTION OR THE USE OF DISCLOSUR OF ITS CONTENTS WITHOUT WRITTEN
PERMISSION BY DESIGNER OR HIS AUTHORISED REPRESENTATIVE IS STRICTLY PROHIBITED

WWW.XSPLATFORMS.COM

REVISION HISTORY
REV DESCRIPTION DATE INITIALS

A A

SECTION A-A

B

DETAIL B

XTS-Impact

Capping sheet

Waterproofing membrane

Insulation

Wooden deck

Cap nut M12

Washer

Rubber ring O25

Rubber ring O60

XTS-Toggle Anchor 
(with threaded rod M12)

22
3

330

50O

XTS-Base Plate Extra

Screws (extremity and corner fixation)

27
1

XTS-Intermediate

Cable

11100		  XSBending kit			   Stainless Steel AISI 304 *	 Aluminum
11110		  XSBase plate			   Stainless Steel AISI 304 *	 Aluminum
11300		  XSToggle anchor			  Stainless Steel AISI 304 *
11700		  XSBase plate extra		  Aluminum
13100		  XSCable				    Stainless Steel AISI 316

•	 Suitable for: all types of wooden roofs 

(min. 18 mm ply wood)

•	 Installment on wooden roofs always requires the 

use of the XSBase plate extra

•	 By mounting on top of the isolation and roofing, 

you minimize the damage to the roof

•	 All XSPlatforms’ anchorage points are tested  

according EN795 class A1 and C



3/3

Drawings & impressions

XSLinked system on concrete roof

Parts & Materials * Parts also available in Stainless Steel AISI 316

FOR INFORMATION ONLY
XTSImpact+XTSIntermediate on concrete

1:2

JMichalska 06012012
Tolerancing principle ISO 8015

0 kg

Nonindicated tolerances  ISO 2768 mK

1/1

FPD110211004APPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110211004  XTSImpact+XTSIntermediate on concrete.dft

A0 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

CABLE SYSTEM

FP
D1

1
02

1
10

04
 

 X
TS

I
mp

ac
t+

XT
S

In
te

rm
ed

ia
te

 o
n 

co
nc

re
te

.as
m 

   
Re

v. 

Weld quality EN 2587C

Welder qualification EN 2871

INITIALS DATE

This drawing and/or its contents are the exclusive property of the designer, and its reproduction or the use of disclosur
of its contents without written permission by the designer or his authorised representative is strictly prohibited

Fall Protection
      XSPlatforms BV
    Papland 11 / 4206 CK Gorinchem / The Netherlands
  Tel: +31 (0) 183 569111 / Fax: +31 (0) 183 569112
www.xsplatforms.com / info@xsplatforms.com

A A

SECTION A-A

B

DETAIL B

Concrete

Insulation

XTS-Base Plate

XTS-Mechanical Anchor

26
8

50O

M12

330

60

XTS-Bending Kit

XTS-Intermediate

Cable

FOR INFORMATION ONLY
XTSImpact+XTSIntermediate on concrete

1:2

JMichalska 06012012
Tolerancing principle ISO 8015

0 kg

Nonindicated tolerances  ISO 2768 mK

1/1

FPD110211004APPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110211004  XTSImpact+XTSIntermediate on concrete.dft

A0 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

CABLE SYSTEM

FP
D1

1
02

1
10

04
 

 X
TS

I
mp

ac
t+

XT
S

In
te

rm
ed

ia
te

 o
n 

co
nc

re
te

.as
m 

   
Re

v. 

Weld quality EN 2587C

Welder qualification EN 2871

INITIALS DATE

This drawing and/or its contents are the exclusive property of the designer, and its reproduction or the use of disclosur
of its contents without written permission by the designer or his authorised representative is strictly prohibited

Fall Protection
      XSPlatforms BV
    Papland 11 / 4206 CK Gorinchem / The Netherlands
  Tel: +31 (0) 183 569111 / Fax: +31 (0) 183 569112
www.xsplatforms.com / info@xsplatforms.com

A A

SECTION A-A

B

DETAIL B

Concrete

Insulation

XTS-Base Plate

XTS-Mechanical Anchor

26
8

50O

M12

330

60

XTS-Bending Kit

XTS-Intermediate

Cable
FOR INFORMATION ONLY

XTSImpact+XTSIntermediate on concrete

1:2

JMichalska 06012012
Tolerancing principle ISO 8015

0 kg

Nonindicated tolerances  ISO 2768 mK

1/1

FPD110211004APPROVED BY
DRAWN BY Rev.:

FORM.

SCALE: MASS:

PROJECT

DRAWING NAME

DRAWING NO.

PG/PGS

AMER.
PROJ.

FPD110211004  XTSImpact+XTSIntermediate on concrete.dft

A0 UNIT
mm

RELEASE DATE
Initials
Initials

ddmmyyyy
ddmmyyyy

CABLE SYSTEM

FP
D1

1
02

1
10

04
 

 X
TS

I
mp

ac
t+

XT
S

In
te

rm
ed

ia
te

 o
n 

co
nc

re
te

.as
m 

   
Re

v. 

Weld quality EN 2587C

Welder qualification EN 2871

INITIALS DATE

This drawing and/or its contents are the exclusive property of the designer, and its reproduction or the use of disclosur
of its contents without written permission by the designer or his authorised representative is strictly prohibited

Fall Protection
      XSPlatforms BV
    Papland 11 / 4206 CK Gorinchem / The Netherlands
  Tel: +31 (0) 183 569111 / Fax: +31 (0) 183 569112
www.xsplatforms.com / info@xsplatforms.com

A A

SECTION A-A

B

DETAIL B

Concrete

Insulation

XTS-Base Plate

XTS-Mechanical Anchor

26
8

50O

M12

330

60

XTS-Bending Kit

XTS-Intermediate

Cable

11100		  XSBending kit			   Stainless Steel AISI 304 *	 Aluminum
11110		  XSBase plate			   Stainless Steel AISI 304 *	 Aluminum
11400		  XSMechanical anchor		  Stainless Steel AISI 304 *	 Galvanised steel
13100		  XSCable				    Stainless Steel AISI 316

•	 Suitable for: regular concrete and  

hollow-core concrete

•	 By mounting on top of the isolation and roofing, 

you minimize the damage to the roof

•	 All XSPlatforms’ anchorage points are tested  

according EN795 class A1 and C


	00001 - XSLinked 01
	00001 - XSLinked 02
	00001 - XSLinked 03

